

5.	(a) Prove that: " if a line parallel to a plane, then it is parallel to
	every line of intersection of this plane with the planes containing the given line ''
	(b) ABCD is a triangular pyramid, $X\hat{I} \ \overline{CD}$ , $Y\hat{I} \ \overline{BC}$ , such that each of the two planes AXB and AYD are perpendicular to the plane BCD $\overline{BX} \cap \overline{YD} = \{M\}$ , AX = 5 cm, XM = 3 cm, YM = 2 cm, find the measure of the angle of inclination of $\overline{AY}$ on the plane BCD with prove
6.	ABCD is a square whose diagonals intersects at M, H is a point
	outside the plane of the square where HM = MB, if HAB is an equilateral triangle, prove that
	(i) $\overline{HM} \wedge \overline{MB}$ and plane HAC $\wedge$ Plane ABCD
	(ii) Find m(H - $\overrightarrow{AB}$ - C)

$$\frac{\text{Answers of model (1)}}{\text{First Algebra}}$$
1 (a) <sup>n+5</sup>P<sub>3</sub> , <sup>n+5</sup>C<sub>3</sub> =  $|X^2 - 2X|$  P <sup>n+5</sup>P<sub>3</sub> , <sup>n+5</sup>P<sub>3</sub>  $|3| = |X^2 - 2X|$   
 $|3| = |X^2 - 2X|$  P  $X^2 - 2X - 3 = 0$  P  $(X + 1)(X - 3) = 0$   
 $X = -1$  OR  $X = 3$  P S. S. =  $\{-1,3\}$   
(b)  $x + 2z = 5$  ,  $y - 3z - 1 = 0$  ,  $y = 7 - x$   
 $D = \begin{vmatrix} 1 & 0 & 2 & | 1 & | 0 \\ 0 & 1 & -3 & | 0 & 1 = (0 + 0 + 0) - (0 - 3 + 2) = 1 \\ 1 & 1 & 0 & | 1 & 1 \end{vmatrix}$ 
 $Dx = \begin{vmatrix} 5 & 0 & 2 & | 5 & | 0 \\ 1 & 1 & -3 & | 1 & 1 = (0 + 0 + 2) - (0 - 15 + 14) = | 3 \\ 7 & 1 & 0 & | 7 & 1 \end{vmatrix}$ 
 $Dy = \begin{vmatrix} 1 & 5 & 2 & | 1 & | 5 \\ 0 & 1 & -3 & 0 & 1 & = (0 - 15 + 0) - (0 - 21 + 2) = | 4 \\ 1 & 7 & 0 & | 1 & 7 \end{vmatrix}$ 
 $Dz = \begin{vmatrix} 1 & 0 & 5 & | 1 & | 0 \\ 0 & 1 & 1 & 0 & 1 & = (7 + 0 + 0) - (0 + 1 + 5) = 1 \\ 1 & 1 & 7 & | 1 & 1 \end{vmatrix}$ 
Then  $x = \frac{Dx}{D} = 3$  ,  $y = \frac{Dy}{D} = 4$  ,  $z = \frac{Dz}{D} = 1$   
2. (a)  $= \frac{(aw + bw^2)(a^2w^2 - abw^3 + b^2w^4)}{a(w + w^2) + b(w + w^2)} = \frac{a^3w^3 + b^3w^6}{-a - b}$   
 $= \frac{a^3 + b^3}{-(a + b)} = \frac{(a + b)(a^2 - ab + b^2)}{-(a + b)} = -a^2 + ab - b^2$ 

PDF created with FinePrint pdfFactory Pro trial version www.pdffactory.com



PDF created with FinePrint pdfFactory Pro trial version www.pdffactory.com



PDF created with FinePrint pdfFactory Pro trial version www.pdffactory.com

6 (i) ABCD is a square  

$$\begin{array}{c} MA = MB = MC = MD \\ \hline MH = MA , HB = AB , \overline{MB} Common \\ \hline DMHB \circ DMAB \\ m(HMB) = m(AMB) = 90^{\circ} \\ HM \land \overline{MB} \\ \hline AM = MB , HA = HB , \overline{HM} Common \\ \hline DHMA \circ DHMB \\ \hline M(HMB) = m(HMA) = 90^{\circ} \\ \hline HM \land \overline{AM} \\ \hline MM \land each of \overline{AM} , \overline{MB} \\ \hline HM \land Plane ABCD \\ \hline HM \land Plane ABCD \\ \hline HM \land Plane (AHC) \\ \hline P(HAC) \land P(ABCD) \\ \hline (ii) Take N is a midpoint of \overline{AB} \\ join \overline{NM} , \overline{NH} \\ Let the side length of a square equals L \\ MN = \frac{1}{2}AB \quad P \quad MN = \frac{1}{2} \\ DABH equilateral, \overline{AN} median \\ \hline \overline{AN} \land \overline{AB} \quad P \quad HN = L \sin 60 = \frac{L\sqrt{3}}{2} \\ \overline{D} HNM \ Plane \ angle \ of \ D H - \overline{AB} - C \\ \hline m (D H - \overline{AB} - C) = m(HNB) \ But \\ \cos(HNM) = \frac{L/2}{L\sqrt{3}/2} = \frac{1}{\sqrt{3}} \\ m(HNM) = 54^{\circ}44^{\circ} \ P \quad m(D H - \overline{AB} - C) = 54^{\circ}44^{\circ} \\ \end{array}$$





$$\begin{array}{||c|||} \hline \textbf{Answers of model (2)} \\ \hline \textbf{First Algebra} \\ \hline \textbf{(a)} L.H.S. = \frac{|n|}{|r||n-r|} \cdot \frac{(r+1)}{(r+1)} + \frac{|n|}{|r+1||n-r|} \cdot \frac{(n-r)}{(n-r)} \\ L.H.S. = \frac{(r+1)|n|}{|r+1||n-r|} + \frac{(n-r)|n|}{|r+1||n-r|} = \frac{r|n+|n+n|n-r|n|}{|r+1||n-r|} = \frac{|n|(n+1)|}{|r+1||n-r|} \\ L.H.S. = \frac{|n+1|}{|r+1||n-r|} = ^{n+1}C_{r,1} = R.H.S. \\ \hline (i) \frac{1^{17}C_6 + 1^{17}C_5}{1^{18}C_5} = \frac{1^{18}C_6}{1^{18}C_5} = \frac{18-6+1}{6} = \frac{13}{6} \\ \hline (b) 2x+y+z=1, x+2y+z=0, x+y+2z=-1 \\ D = \begin{vmatrix} 2 & 1 & 1 & 2 & | \\ 1 & 2 & 1 & 1 & 2 & | \\ 1 & 2 & 1 & 1 & 2 & | \\ 1 & 1 & 2 & | & 1 & 2 & | \\ 1 & 1 & 2 & | & 1 & 2 & | \\ 1 & 1 & 2 & | & 1 & 2 & | \\ 1 & 1 & 2 & | & 1 & 2 & | \\ 1 & 1 & 2 & | & 1 & 2 & | \\ 1 & 0 & 2 & | & 0 & 2 & | (0+1-1) - (0+1-2) & = \boxed{4} \\ \hline Dy = \begin{vmatrix} 2 & 1 & 1 & 2 & | \\ 1 & 0 & 1 & | & 0 & = (0+1-1) - (2-2+0) & = \boxed{0} \\ 1 & -1 & 2 & | & 1 & 2 & | \\ 1 & 2 & 0 & 1 & 2 & = (-4+0+1) - (-1+0+2) & = \boxed{-4} \\ \hline Dz = \begin{vmatrix} 2 & 1 & 1 & 2 & | \\ 1 & 2 & 0 & 1 & 2 & = (-4+0+1) - (-1+0+2) & = \boxed{-4} \\ \hline Then x = \frac{Dx}{D} & = 1 & y & = \frac{Dy}{D} & z & z & = \frac{Dz}{D} & = -1 \\ \hline \end{array}$$

2. (a) L. H. S. = 
$$\begin{vmatrix} a + bw & c \\ -1 & w \end{vmatrix}^2 + \begin{vmatrix} w & b \\ -1 & aw + c \end{vmatrix}^2 + \begin{vmatrix} w^4 & a \\ -1 & cw + b \end{vmatrix}^2$$
  
L. H. S. =  $(aw + bw^2 + c)^2 + (aw^2 + cw + b)^2 + (cw^2 + bw + a)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + (a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + w^4 (a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + w^4 (a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + w^4 (a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + w^4 (a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + w^4 (a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + w^4 (a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
L. H. S. =  $(a + bw + cw^2)^2 + w^4 + 1 = a + bw + cw^2)^2 + (a + bw + cw^2)^2$   
(b) The expansion  $\frac{ax^3}{\xi} - \frac{4}{2} - \frac{5}{x} + \frac{5}{w}$   
T.  $(-1)^{r} + (-1)^{r} + (-1)^{r} + (-1)^{r} + (-1)^{r} + (-4x^{-1})^{r}$   
T.  $(-1)^{r} + (-1)^{r} + (-1)^{r} + (-1)^{r} + (-4x^{-1})^{r}$   
The term contains  $x^5 = 33 - 4r = 5 = 4r = 28 = \frac{r}{r} = 7$  then  
Coefficient of term contains  $x^5 = (-1)^{7} + (-4x^{-1})^{r} + (-4x^{-1})^{r}$   
The term contains  $x^5 = 33 - 4r = 5 = 4r = 28 = \frac{r}{r} = 7$  then  
Coefficient of term contains  $x^5 = (-1)^{7} + (-4x^{-1})^{r} + (-4x^{-1})^{r} + (-4x^{-1})^{r}$   
The term contains  $x^5 = (-1)^{7} + (-4x^{-1})^{r} + (-4x^{-1})^{r} + (-4x^{-1})^{r} + (-1)^{r} + (-1)^$ 

$$\begin{aligned} a + i \ b &= 2 \mathop{\stackrel{6}{k}}_{e} \cos \frac{300^{\circ} + 360^{\circ} n}{2} + i \ \sin \frac{300^{\circ} + 360^{\circ} n^{\frac{1}{2}}}{2} & \stackrel{1}{\underline{u}} \\ \text{Where n = 0, 1} \\ \hline \\ \hline \\ \hline \\ \hline \\ when n = 0 \\ \hline \\ a + i \ b &= 2 \mathop{\stackrel{6}{k}}_{e} - \frac{\sqrt{3}}{2} + \frac{1}{2} i \mathop{\stackrel{1}{u}}_{\underline{u}} = -\sqrt{3} + i \ P \quad \boxed{a = -\sqrt{3}, \ b = 1} \\ \hline \\ \hline \\ \hline \\ a + i \ b &= 2 \mathop{\stackrel{6}{k}}_{e} \cos 330^{\circ} + i \ \sin 330^{\circ} \mathop{\stackrel{1}{\underline{u}}}_{\underline{u}} = \sqrt{3} + i \ P \quad \boxed{a = -\sqrt{3}, \ b = 1} \\ \hline \\ \hline \\ \hline \\ when n = 1 \\ \hline \\ a + i \ b &= 2 \mathop{\stackrel{6}{k}}_{e} \cos 330^{\circ} + i \ \sin 330^{\circ} \mathop{\stackrel{1}{\underline{u}}}_{\underline{u}} = \sqrt{3} - i \ P \quad \boxed{a = \sqrt{3}, \ b = -1} \\ \hline \\ \hline \\ a + i \ b &= 2 \mathop{\stackrel{6}{\underline{e}}}_{e} \cos 330^{\circ} + i \ \sin 330^{\circ} \mathop{\stackrel{1}{\underline{u}}}_{\underline{u}} = \sqrt{3} - i \ P \quad \boxed{a = \sqrt{3}, \ b = -1} \\ \hline \\ \hline \\ a + i \ b &= 2 \mathop{\stackrel{6}{\underline{e}}}_{e} \cos 330^{\circ} + i \ \sin 330^{\circ} \mathop{\stackrel{1}{\underline{u}}}_{\underline{u}} = \sqrt{3} + i \ P \quad \boxed{a = \sqrt{3}, \ b = -1} \\ \hline \\ \hline \\ x = \sqrt{3}, \ Y = 1 \ P \quad r = \sqrt{3 + 1} = 2 \\ \hline \\ tanq = \left| \frac{Y}{x} \right|_{=} \frac{1}{\sqrt{3}} \qquad P \quad anp. = 30^{\circ} \\ a + i \ b &= \pm 2 \mathop{\stackrel{6}{\underline{e}}}_{e} \cos 30^{\circ} + i \ \sin 30^{\circ} \mathop{\stackrel{1}{\underline{u}}}_{\underline{u}} \\ \hline \\ (a + i \ b)^{\circ} = 64 \mathop{\stackrel{6}{\underline{e}}}_{e} \cos 180^{\circ} + i \ \sin 180^{\circ} \mathop{\stackrel{1}{\underline{u}}}_{\underline{u}} \\ \hline \\ (a + i \ b)^{\circ} = 64 \mathop{\stackrel{6}{\underline{e}}}_{e} \cos 180^{\circ} + i \ \sin 180^{\circ} \mathop{\stackrel{1}{\underline{u}}}_{\underline{u}} \\ \hline \\ \hline \\ (b) \ (x - 2) \ is \ a \ factor \ of \ D \ then \ D = 0 \ when \ x = 2 \\ \hline \\ \hline \\ \hline \\ \therefore \ D = \left| \begin{array}{c} 1 & 5 & 2 \\ -3 & 7 & -6 \\ 5 & 2 & 2 + k \\ \\ \hline \\ x \ D = \left| \begin{array}{c} -3 & 7 & 0 \\ 5 & 2 & k - 8 \\ \end{array} \right| = 0 \\ \hline \\ \\ y \ D = \left| \begin{array}{c} 1 \\ 5 & 2 \\ -3 & 7 & 0 \\ 5 & 2 & k - 8 \\ \end{array} \right| = 0 \\ \hline \\ \\ \hline \\ \\ \end{array} \right|$$

PDF created with FinePrint pdfFactory Pro trial version <u>www.pdffactory.com</u>



PDF created with FinePrint pdfFactory Pro trial version www.pdffactory.com

(b) (i) 
$$\because \overrightarrow{AB}$$
 // plane(Mxy) and  $\overrightarrow{AB}$  Ì P(ABD)  
where P(Mxy)  $\cap$  P(ABD) =  $\overrightarrow{MY}$   
 $\land \overrightarrow{MY}$  //  $\overrightarrow{AB}$   
 $\because \overrightarrow{CD}$  // plane(Mxy) and  $\overrightarrow{CD}$  Ì P(BCD)  
 $\because$  P(Mxy)  $\cap$  P(BCD) =  $\overrightarrow{Mx}$   
 $\land \overrightarrow{Mx}$  //  $\overrightarrow{CD}$   
(ii) In  $\Delta$ Mxy  
xy < yM + Mx (B) (1) [Ineq. of triangle]  
 $\because \overrightarrow{Mx}$  //  $\overrightarrow{CD}$   
 $\land \overrightarrow{DB} = \frac{My}{AB}$  But  $\frac{DM}{DB} = \frac{1}{2}$  P  $\land \frac{My}{AB} = \frac{1}{2}$  P  $\land \frac{Mx}{CD} = \frac{1}{2}$  P  $\land \frac{Mx}{BD} = \frac{1}{2}$  D (B)  $(2)$   
 $\because \overrightarrow{Mx}$  //  $\overrightarrow{CD}$   
 $\land \overrightarrow{BB} = \frac{Mx}{CD}$  But  $\frac{BM}{BD} = \frac{1}{2}$  P  $\land \frac{Mx}{CD} = \frac{1}{2}$  P  $\land \frac{Mx}{2} = \frac{1}{2}$  C (3)  
Sub. from (2), (3) in (1)  
xy <  $\frac{1}{2}$  AB +  $\frac{1}{2}$  CD P xy <  $\frac{1}{2}$  [AB + CD]  
(a)  $\land (AC)^2 = (BC)^2 + (AC)^2$  P  $\land AC = 10$  cm  
 $\because \overrightarrow{DB}$  Plane (ABC)  
 $\land \overrightarrow{DE}$  AC P  $\land BE = \frac{8 \cdot 6}{10} = 4.8$  cm  
area of DDAC = 30  
 $\frac{1}{2}$   $\land AC$   $\rightarrow D$  P DE = 6 cm  
 $\frac{1n DDBE}{?}$   $\because m(DBE) = 90^{\circ}$   
 $\land (DB)^2 = (DE)^2 - (EB)^2$  P DB = 3.6 cm  
 $\land \tan(DEB) = \frac{3.6}{4.6} = \frac{3}{4}$ 

PDF created with FinePrint pdfFactory Pro trial version www.pdffactory.com